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HCO BULLETIN OF FEBRUARY 27, 1959
HOW TO SELECT SEEQQTED P§§§Q§§

In Selected Persons Over: Straightw;re, theré is an element of diagnosis. How does
one select the "seleg¢ted person’?

".:!

Every time this process misses on a;preeleag;‘epe_oﬁggyxee things is at fault, either--
(1) PC has pt problem; UL '

(2) Dynamic Straightwire should have been run a week or two.
(3) The wrong person was selected for the prbcess. 20 e o8 d

The whole thing is A matter of attention units (1950). 1f the:preclear has his at-
tention totally fixed on a terminal, little else is real to him; Look at one object
only in a rooum. ‘How real are the other objects?  If a 'preclear’s attention is all
bound up in"some person, how can he find reality elsewhere.

Very well, how do we find, then, the "selected person''? .~
The most loaded two-~way cbmm‘qeestien is,

"Who in your life, is to Dblame for the’ conﬁition you'te in’"
Others of like ilk. produoe the "selected person' you then run on Selected Person
Overt Stralghtv1re. f

'th waS-the peésoe who z2ally had it in for you?"

tho do you know or did youiknow'thxf'§bu’d Teally ﬁggg to be?"

17 tha pe to'eﬁ;‘oé'the abave gr all of them says, "myself"f that's whet you
have to Tun. . :

Select a new person each time pc splits off the one you re running. You'll find
some amazing valence Shlftu. L
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You ask the person to describe the dynam*cs from one to eight. ‘We don't care about
thamXbeing sequiteur, anyway you want to break it up, we don't care.

Now yeou ask a pevson eo desczibe zach oue of thesz dynamics. You're watching an
E-mdte? for a change ia pattern. Therefore, you have to carefully isolate the change
of pattern beforz you nan tell vbether oz not the pattern's changed on the E-meter
needle readirg. But more important than that, you are looking for a dynamic that he
uakas mistakes on while he is txving to describz a dynamic he cannot describe, a
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dynamic that he won't even approach, that he is very leary of and his statement is
confirmed by the E-meter reading. In other words, you've got the statement of the
pc in this particular analysis or diagnosis for dynanic straightwire.

All right, then, we go all the way throuvzh asking for a terminal on these dynamics
and we finaily got a repeat. We will ack him for tewnrinals on these dynamics; w271l
gzt the neme dymgmic to rerd again, New the basic rule which sorts this out is -
any dyeande which doezn’t cleer by two-wey cown. has to be run. Simple as that. Any
dynanic which doesn't clear by twoewzy comm. has to rm.

Don®t run a terminal that is totally inreal to the preclear, Another stable datum
vhich comes, onltop of 't 1s:  Never rum a tevwinal that¥s sensible. Never. If a
terminal beloﬂvs od th2 dynamic you can almost say you'll get nowhere ru running it.
So, yeu're lecking for terminals that they give you for a dynawic which don't btalong
ou the dwnemic ot all,

Now, if rhat terminsl 48 resl to the pe you will get a tremendous change in the
cese, IZ that forwdinal ia totally wnveel to the pe and £f it docs belong on the
dvnozie, why you're noi geing to get ony chenge on the case, why rum it? Might as
well xun some other procesd. It 48 nalther & long process nor an invariable process.
Given encugh ski'l you could undoubtedly find one of these on every case. Civen
epough gkill, Dut it is limited by euditer skill, Furthermore, it gives auditors

a chaznce to chop wp pa's and it gives auditous a chance to write soms seript.

You do not lef ha2 p2 chocse. You have auditores who actually believe that a pe is
permitted power of choifce in an auditivg sesglog, That onaes a blinker.

Where you £ind pc's out of sescion, 12's because nobody has trailed down a nutty
AYTiANIC o ~
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